N=FLT

IR

1 03-3248-2235
E-mail: yamadat@nichirei.co.jp
URL http://www.nichirei.co.jp/ir/index.ntml



N=FLT

2007 7 30 ¢ > 2007 5 15



N=FLT

> >

5,331
4,969
5500 [, o4 4,600 73 “ 4,703
: 4,577
5000 | pRi 62 = 7
100 z =
4500 45 i -
4,000 27 34 38 | 3950 |3
3,500 | 1000 o
— 900 ' -
3000 } — 20 | —
2,500 900
860 00 | |3
2,000 -
1500 *
1000 f 90 1823] |—*—
500 |
0 01 * =270
-500 b 1

06/3 07/3 08/3E 09/3P 10/3P 08/3 E -25 = 06/3 07/3 08/3E 09/3P 10/3P 08/3 E






2,500

2,000

1,500

1,000

500

1,847

1,848 ® 38 |
366 338
125 0% 155] ]
798 803 510 851, 887 830 |
% 0 ﬂ 2 2 2
06/3 07/3 08/3E 09/3 10/3 08/3 E
—a — [

= - °

5.0%

4.0%

3.0%

2.0%

1.0%

0.0%

N=FLT




N=FLT



N=FLT

250
6.0% I ' 202 2039 74%
200 | 194 190 197
40% r
3.0% 150 F 149
2.0% 2.1% 124 129
100 F
0.0% i t i
AN
-2.0% \/ 50 F
\/ -3.2%
-4.0% -4.0% 0 N N N N
06/3 07/3 08/3E 09/3 1073

-6.0% -



N=FLT

100

40

20







FLT

N

s ?







1,500

1,000

500

1,384

22

217

1,458

189

19

1,590

194

23

1,395

1O

07/3

08/3E

09/3P

E

100

80

60

40

20

N=FLT

14 10
7
= 42
— 43
| 47 =
53 L_|
47
T 37
31
24
‘ 13 ‘ L - - L
1
i, 6 =
‘ g H -14 -15
06/3 07/3 08/3E 09/3P 10/3P
| = = == = =




N=FLT

160 16
146
140 /‘\ 1 14
124 14 126 128
120 | ) ] Lo 112
11020 102 /12
100 — = ] o 10
XN / 10
80 f 9 \ 18
Lo
6 45
40 30 30 30 naa 3533 3633 4
25 22 23 26 25
20 12
5 3 3 4 5
0 [ ‘ 1 — 1 — | E‘ — [ ([l — ‘l_lw E‘ 0
04/ 05/ 06/36 07/34 08/13 ‘ 09/3Pg 10/3F,
-20 =00 14 -13 -2




N=FLT

110,000

133,600

122,500

26,300




45.0%

43.0%

41.0%

39.0%

37.0%

35.0%

33.0%

N=FLT



N=FLT

GMS




150

100

50

30

54%

N=FLT

10 20
21%






N=FLT

1,848 1773 1,740 1,823 1,900 2,000
811 747 760 800 860 900
846 809 820 820 900 1,000

1271 1,341 1,384 1,395 1,458 1,590
100 79 73 70 69 74

87 70 62 65 73 81

-269 -242 -239 -270 -291 -314

4,694 4577 4,600 4,703 4,969 5331

55 60 53 65 83 97

-17 -4 -6 3 5 6

3 6 5 8 9 9

58 72 82 73 73 78

61 45 37 34 34 34

1 1 1 2 3 5

-1 1 -4 -2 -5 -3

160 181 168 183 202 226

5 2 5

5 8 11

-6 -6

7 6

M 7 6
15 -
M 15 -




N=FLT




